Example 1

Calculate the specific heat capacity of concrete if
3570 J of heat causes the temperature of a 275 gram
sample to change from 11.35 °C to 27.45 °C?

Solution

Q =3570 J; m = 275 gram;

Temperature change = 27.45-11.35=16.1°C
Q =mcO

3570 = (275) X C x (16.1)

3570 = 4427.5XC
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4427.5

Example 2

How much heat is required to raise the temperature
of 250.0 g of mercury by 52°C? ( specific heat
capacity mercury =140 J/ kg® C)
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Example 3
516 J of energy Is required to raise the temPEFature

of aluminum from 15° to 35°C. Calculate the Mass of
aluminum. Specific Heat Capacity of alumingm '

0.90J°C7g".
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Example &

3.5 kg of liquid X at_ 95°C iS. aH.ow.ed to cool, |f ol
specific heat capacity of liquid is 600J/kq°C ol
so J of heat energy Is released, calculate the fin

95 N .
temperature of the liquid.
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Example 5

The initial temperature of 1509 of ethanol was
,5°C. What will be the final temperature of the
othanol if 3240 J was needed to raise the
temperature of the ethanol? Specific heat capacity
of ethanol is 2400 J°C*kg™.
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Example 6

A bicycle and have a combine mass of 133 kqg. How
many energy of heat are generated in the brakes
when the temperature change from 77°F to 42°C.
The specific heat capacity of iron is 450 J/kg°C.
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